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1. BIEAURI—H5T
=L K4 g ouT IN Gross HDCP NET
B | & H &K % 5k 45 48 93 26 67
5 B F X % 5k 39 46 85 18 67
3 B EF O Oz % W 39 38 77 9 68
4T N B Og A LR FH 40 37 77 8 69
=2 W M & % W 39 38 77 8 69
H b E & % 5k 41 43 84 15 69
1T b F B = % 5k 44 42 86 16 70
I 8 F; X % 5k 43 43 86 16 70
T | 88 KX [ X SLAREILX 44 39 83 12 71
= £ IF # FEARKE 43 42 85 14 71
el W0 X ¥ AF—REI 41 40 81 10 71
E & & & % R 40 43 83 12 71
13T | § K B I % W 44 40 84 12 72
# K B A L 42 45 87 15 72
=B# i % &R 38 47 85 13 72
16T | B K e % R 46 42 88 15 73
x E K — F B 44 43 87 14 73
I % iR 44 43 87 14 73
WOk E & % ik 45 44 89 16 73
= 4t # A8l % iR 40 44 84 11 73
I B £ E % R 39 43 82 9 73
22T | /88 £ &F % ik 47 48 95 21 74
b H I i % 5k 41 45 86 12 74
b E % % R 38 45 83 9 74
i1 il By 42 48 90 16 74
¥ OB OB Bt % 5k 41 50 91 17 74
i " 8 B Py E e 39 49 88 14 74
28T | ® JIl = E FAF X 45 39 84 9 75
Cicfas 3 % W 42 43 85 10 75
30T | B & IE & % iR 49 50 99 23 76
2 % B = % iR 39 42 81 5 76
W T X B % 5k 42 45 87 11 76
T | F I =S % iR 52 43 95 18 77
Ml 7 B B % 5k 48 45 93 16 77
E B 5h 17 FAF X 43 47 90 13 77
I X B IE A F—FELW 57 62 119 42 77
3T | & HE ¥ K By 52 43 95 17 78
H & F = %2 W 44 43 87 9 78
ES # BB % iR 47 59 106 28 78
40T | KX W =1 % &R 51 39 90 11 79
- R =FHIW 42 43 85 6 79
kE % F A % 5k 46 53 99 20 79
F M # = % 5k 38 51 89 10 79
47 | L N EF = FBRKE 52 43 95 15 80
B sf IE & % iR 46 47 93 13 80
W £ T X MGRA lLZz—f& 46 48 94 14 80
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. BEHU—H5T
=L K4 g ouT IN Gross HDCP NET
g Iy sh R % R 44 51 95 15 80
48T | A H & E % W 50 39 89 8 81
m g — R RFH 49 49 98 17 81
N # @m R % 5k 47 52 99 18 81
X Il E A % iR 52 58 110 29 81
52T | & #t =] == =1 51 43 94 12 82
B & B # =EAL 46 51 97 15 82
54T | & % B — % iR 50 53 103 20 83
® N & = F B 53 57 110 27 83
56 i = =EH\W 47 42 89 5 84
57T | # KX R — % R 50 48 98 13 85
A XK &2 F % R 47 48 95 10 85
B & nt B % R 48 55 103 18 85
60 £ T 1§ — % 5k 54 53 107 21 86
61 # H £ % 0 44 49 93 5 88
62 Z ¥ & &h % iR 53 55 108 17 91
- = £ &R 7 F B R iz
- e 2 N Ri5
- B kb 8 = % R R iz
- X & i % iR Ri5
- # W B sh % R R iz
- ¥ H & — % ik Ri5
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